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Question 1 [20 Marks]  

If the model of a system having thermocouples measuring temperatures, T (
o
C), at its different points is given by the set of expressions in Equation (1), 

estimate the values of the temperatures using:  

 
 
 

 
 

                     
                       
                        
                       

                         
                           

 
 

 
 

 ……………..Equation (1) 

(a) Gauss elimination method manually (with the aid of calculator),   

(b) Gauss elimination method with the aid of Microsoft Excel,   

(c) Gauss elimination method with the aid of MATLAB,   

(d) matrix inverse method with the aid of Microsoft Excel, and  

(e) matrix inverse method with the aid of MATLAB.   

Solution 

A. Solution Gauss elimination method manually (with the aid of calculator)  

 
 
 

 
 

                     
                       
                        
                       

                         
                           

 
 

 
 

 ……………..Equation (1) 

 

The matrix forms of Equation 1 are as follows: 
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By subtracting the product of the first pivot element of each column of row one and the pivot factor of each row from each element of rows 2 to 6, we 

get the following: 

 
 
 
 
 
 
                     
                 
                  
                
                         
                 

 
 
 
 
 

 
 
 
 
 
 
  
  
  
  
  
   

 
 
 
 
 

 

 
 
 
 
 
 

 
  
   
   
  
    

 
 
 
 
 

 

 
 
 
 
 
 
 
 
 
 

            

      
 

 
   

     
 

 
   

     
 

 
   

      
 

 
    

     
 

 
    

 
 
 
 
 
 
 
 
 

 

By subtracting the product of the second pivot element of each column of row two and the pivot factor of each row from each element of rows 3 to 6, 

we get the following: 
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By subtracting the product of the third pivot element of each column of row three and the pivot factor of each row from each element of rows 4 to 6, 

we get the following: 
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By subtracting the product of the fourth pivot element of each column of row four and the pivot factor of each row from each element of rows 5 to 6, 

we get the following: 

 
 
 
 
 
 
 
 
                            
                        

            
 

 
         

  

 
    

 

 

                   
  

 
   

 

 
    

  

 

                           
  

 
   

  

 

                          
  

 
    

  

  
 
 
 
 
 
 
 

 
 
 
 
 
 
  
  
  
  
  
   

 
 
 
 
 

 

 
 
 
 
 
 
 
 

 
  
   

 
   

 
   

 
  

  
 
 
 
 
 
 
 

 

 
 
 
 
 
 

            

     
  

 

 
  

 

   
  

 

     
 

  

 

 
  

 

  
  

  
 
 
 
 
 

 

 

By subtracting the product of the fourth pivot element of each column of row fifth and the pivot factor of each row from each element of rows 6, we 

get the following: 
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Hence,  
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  T3 + (   T4 + ( 

  

 
 T5 + (

 

 
 T6 = -11 

T3 = ((-11 – ((   (4) + ( 
  

 
 (2) + (

 

 
 (-1)))/  

 

 
  ) = 3 

-3T2 + 5T3 + (0)T4 -  5T5 - T6 = 12 

T2 = ((12 – (5(3) + (0)(4) -  5(2) – (-1)))/-3) = -2 

T1 + T2 -2T3 + T4 + 3T5 - T6 = 4 

T1 = ((4 – ((-2) -2(3) + (4) + 3(2) – (-1)))/1) = 1 

Therefore, the solution of the sets of equations in matrix form is: 
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B. Solution using Gauss elimination method with the aid of Microsoft Excel  
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FIGURE B1: FORMULAE FOR THE SOLUTION 
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FIGURE B2: RESULTS OF THE EXCEL FORMULAE 
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C. Solution using Gauss elimination method with the aid of MATLAB 
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FIGURE C1: CODE FOR THE SOLUTION OF THE SET OF EQUATIONS 
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FIGURE C2: RESULTS FOR THE CODE 
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D.  Solution using matrix inverse method with the aid of Microsoft Excel 

 

FIGURE D1: FORMULAE FOR THE SOLUTION 

 

 

FIGURE D2: RESULTS OF THE EXCEL FORMULAE 
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E. Solution using the matrix inverse method with the aid of MATLAB.  

 

FIGURE E1: CODE FOR THE INVERSE MATRIX SOLUTION 
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FIGURE E2: RESULTS OF THE CODE 

 


